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Q.3.

Assistant Professor Batch-3 (Assistant Professor Genetics and Plant Breeding)

e
Choudhary Charan
Singh University

Who was the first person to use the term genetics to describe the study of heredity?

IQIRIBAT & M BT JUIFT BRI B (ol T TSl AARIDI & BT FANT HRA a1t Usel Al DI &?

Gregor Johann Mendel

IR SBH Hed

William Bateson [Keyl]
faferm de=

Nikolai Ivanovich Vavilov

oS L o N
[Hhlclly SdTHIdd dTiddld

Charles Robert Darwin

I

NECRSICH

In which year Nobel Prize of Physiology and Medicine was given to James Dewey Watson, Francis Crick and Maurice Wilkins for their
discoveries?

a9 § o @ areEn, Bk e iR AR Rfcrd o1 s sl & g BRresh g fRifvcr 3 e oR
| eI faar

ar A1

1952
1952

1962
1962

[Keyl

1972
1972

1960
1960

The concept of centre of origin was given in the year 1924 by

IS B P! QIR 9§ 1924 ¥ fHad gRT 9 7S of?



1). Zeven and Zhukovsky
SIA 3R STavh!
2). William Bateson
fafera™ dea+
3). Nikolai Ivanovich Vavilov  [Key]
freprers gamifea arfdea
4). Charles Robert Darwin
ey 9 sifaT
Q4. Cultivated rice plant is originated from which region of the world,
Yi—dae » M P SAfa ghaT s P aa A gE @
1). China centre of origin
IAfT BT I b=
2). Hindustan centre of origin  [Key]
ST @1 9o fEgad o=
3). Central Asia centre of origin
Saafed &1 Ho 727 URRT dv
4). Abyssynian centre of origin
Scfed @1 Jol YR o
Q.5. What is protogyny
WY 4T /7
1). Stamens mature before pistils
o HHwR ¥ U8 IRY B §
2). Stamens and pistils do not mature
JawR 3R SNear aRudd & g &
3). Pistils mature before stamens [Key]
JHeR A g SIeeR URudd B1d 8
4). Stamens and pistils mature on same time
PR 3R PR Th & 999 W URYF B &

Q.6. What is the full form of CRISPR
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Q.8.

1).

2).

3).

CRISPR =1 Full Form zar 27

Combining regularly interspaced short palindromic Repeat
HHTZAT WeRell Scxaws vre ufefsifte Rie
Clustered regularly interspaced short palindromic Repeat [Key]
RS NWoRell geviRs v Ufeisgifie Rde
Clustered repeat interspaced short palindromic regularly
Foves Rile Sexars e Ufefsife reret
Combining repeat interspaced short palindromic Repeat
ST Rie sexs oiid Ufefeiae Rie
Which is the first hybrid variety of cotton in India
qRA H HUT P TSl GpR foe 9 A 8
Varalaxmi
RAEH!
Jayalaxmi
ST
Savitri
SUEEL
H4 [Key]
H4
Which 1s the certified classes of seed under the Indian Seed Act
(1) Breeder seed (2) Foundation Seed
(3) Certified Seed (4) Nucleus Seed
Choose t}:u: correct answer from the options gwen below
m$mmwmﬁmw%1 R 97 2. BISSYA 19 3. VI it 4. i 7| <)
ﬁ? Y et SR Iy
1 and 4 only
Had 1 iR 4
2 only
®ad 2 B
2 and 3 only [Key]




PHacdf 2 3R 3

4). |4 0nly
B 4 T

Q.9. A circle is divided into slices to illustrate numerical proportional to the frequency of items shown is called.

%Fﬁmﬁmmm%mmwmﬁm%%mwmﬁmw

1). |Bar chart
IR =T
2). |Histogram
feemm
3)- |Frequency polygon
g T8
4). |pie chart [Key]
BIEEGI
Q.10. Chi square Value is Zero when
T BFE—HIAR A T 7
1). If the actual data and expected data are same [Key]
Ify arafas Ser 3R Sfea Ser wh e
2). If the expected data are higher than actual data
afe smfard o1 adfdd Se1 9 31 '
3). If the expected data are lesser than actual data
I JUferd STT ar<fd® ST i P4 ©
4). B and C is correct
B 3R c gIHI gl
Q.11. Find the mode in the following data set (2, 3, 6, 6, 6, 6, 7,7, 12, 12, 17)
frfaRad Ser e § A T PIT (2,3,6,6,6,6,7,7,12,12,17)
1. 17

17




2). 12
12
3). 7
7
4). 6 [Keyl
6
Q.12. Concept of plant ideotype is proposed by
Ul TSy & IR fhas gRT ywdIfad 31 T8 87
1). T. H Morgan
dlov=o AR
2). Nelson Elhe
AT 3
3). CM Donald  [Key]
RISIVESIRIGS]
4). G.H Shull
Silogo 3ret
Q.13. Indian Journal of Genetics and Plant Breeding is published by
3T T 3 oMfea Us wic ST fPae grT yeife fHar wimar 272
1). Indian Society of Genetics and Plant Breeding, New Delhi [Key]
3T dEd Bife Sfead g wiie fife, 73 et
2). Indian Society of Plant Genetic Resources, New Delhi
3). Indian Society of Seed Technology New Delhi
IR dist denfrer Jrmad, =3 et
4). Indian Society of Genetics and Plant Breeding, Kolkata
5379 HEEdl 3ifh Sifead g wie HifET, dretdrdn

Q.14. Use of combining ability as a measure of gene action was first used by

S f3pam @ AT @& ©U ¥ HAIH &Har ST YA Gaged fhae gRT fhar T or?

1). Wright (1921)
X1ge (1921)

2). Sprague and Tatum (1942) [Key]




BT 3R 2eH (1942)
3). Griffing (1956)
fIfheT (1956)
4). Hayman (1954)
AT (1954)

Q.15. When the activity of one gene is suppressed by the activity of a non-allelic gene, it is known as

19 T oiiF @ Tfafafy IR—gelier S 91 i & <1 € ot 2, oF 39 59 ©u § &1 oar @

1. |Pseudo-dominance [Keyl
BH WA

2). Hypostasis
EERIESAIRIES]

3).  |Epistasis
NESSISE

4). Incomplete dominance
et s

Q.16. Which one among the following statement is true in the context of the testing of hypotheses?

IREBAT B W0 B oo # fA=fiRad § | @19 91 $eF 9 87

1). It is only the alternative hypotheses that can be tested.
T8 DI dbfodd YRGS 8 Faadt qRieror fham S | & |

2). Both the alternative and the null hypotheses can be tested.
Jpfoud R =T AT URBeIISI BT TNIeTor fohar S Fdhar = |

3). Both the alternative and the null hypotheses cannot be tested.
Jpfoud AR I Tl IRGIRIT BT e T fhar S \ehdn B |

4). It is only the null hypotheses that can be tested. [Key]
T8 Had Y RGN & a1 qRIeroT fHar 51 Aahdn 2|

Q.17. Combining desirable characters in one plant and then multiplying it, is called as:
TS 9Y ¥ qifed weon & e iR RS9 IOm R dEdn @
1). Selection
ERE]
2). Tissue culture
b Hag




3). Genetic engineering
SHfed gonaRaT
4). Crop improvement [Key]
B gER
Q.18. Which of the following enzyme is involved in conversion of ammonia to amino acid?

frfafRaa & @ 919 91 Jongd sMifear @) i TRE § gaom # Il 87

1). Alanine transferase
ASURRSELAS
2). Nitrate reductase
rgge Redew
3). Glutamine synthetase [Keyl]
TemIgT Rigey
4). Nitrite reductase
AEgse Reaed
Q.19. What is the meaning of the term ‘abyssopelagic’?
T wss &1 R 3ref /7
1). Organisms living at water depths greater than 2000 m
2000 Hex 9 31fdd ol &) TeNE H Y8 it Sid
2). Organisms living at water depths greater than 4000 m  [Key]
4000 ¥R | 31f¥d U B TERTS H Y& dTel ofd
3). Organisms living at water depths greater than 3000m
3000 HIex ¥ 37f¥e% TRl Pl Te1g H Y8 drel Sid
4). Organisms living at water depths greater than 1000m
1000 Hex ¥ Ay I BT TERTS H I8 dTed oIl

Q.20. Jute is obtained from Corchorus sp. this is
DROR JoIfadr | S U 8ir 8, 3 &
1). xylem fiber
SIESLISIFEN
2). phloem fiber [Key]
TAIGH HISaR
3). surface fiber




AdE B

4). all of the above
SENESIRkI
Q.21. Most food crops of the world belong to
faea & siffrwie @ wud fHaar 87
1). Cruciferae
EAGIEA
2). Solanaceae
RilSIRAsll
3). Gramineae [Key]
pikkll
4). Leguminosae
SRR
Q.22. The multiple factor hypothesis was proposed by
9§ IRS IRGI fhasd gRT ywaifaa @t g ofi?
1. Fisher
fheR
2). Mather
AR
3). Nilsson Ehle [Key]
SRS
4). Falconer
HlohY

Q.23. The WTO was established on January1 under the Marrakech agreement in the year

fIea AR HTST B RIUAT 1 T I ARTHT WA & T8d 5w 9§ # gg o

1). 1995 [Keyl
1995

2). 1955
1955

3). 1985
1985




4). 1975
1975

Q.24.
Match the following scientists known for their contribution
A Louws Pasteur 1. Pasteurization
B. Sir Alexander Fleming 2. Mycology and plant pathologyv
C. Sir Edwin John Butler 3. Heterosis
D. G.H.Shull 4. Penicillin
Frfatian dmfet =1 57 9rmem  fom oafa ik
(@ 7 mEm 1. mzrEe
(&) T = T 2. g S v S
(1) = wEfE = T2 3. Tt
(@ eI 4ttt
1). A-3,B-2,C-1,D-4
T3, A2, W1, E -4
2). A-4, B-1, C-2, D-3
R T e
3). A-1,B-2,C-3,D-4
w1, a2, W -3, % -4
4). A-1,B-4,C-2,D-3 [Key]
w1, o -4, W2, F -3
Q.25. COVID-19 (corona virus) is
COVID-19 (smHram®) ...,
1). SARS-CoV-1

SARS-CoV-1



2). SARS-CoV-2 [Key]
SARS-CoV-2
3). SARS-CoV-3
SARS-CoV-3
4). SARS-CoV-4
SARS-CoV-4

Q.26. Brassica juncea is an amphidiploid from the interspecific cross containing (AABB) genomes. In this cross AA genome is received from which
species

FIRTST Ff~ear siR—faRre o\ Jaa QUdd) SiHM 9§ 1@ (Reiewiss 5| 59 I | UY SiFM &9 gofa | i< 8iam ©

1).  |Brassica carinata
sTRYET HRATST
2).  |Brassica campestris  [Key]
st dRIReA
3).  |Brassica nigra
ELREaRERI
4).  |Brassica oleracea
STRT®T 3eRRmr

Q.27. Calculate the harvest index if biological yield is 80 quintal and grain yield is 35.8 quintal

HH GABID B TOMT N Y Afad Ut 80 fadea iR 3T o Suwt 35.8 fded &

1). 50.25%
50.25 %

2). 40.25%
40.25%

3). 40.75% [Key]
40.73 %

4). 75.44%




75.44%

Q.28. Chose the correct colour of breeder seed tag

Tol® dIST ST BT el T o

1). Azure blue
TSR e
2). White
Rk
3). Green
eI
4). Golden Yellow [Key]
oS Jall
Q.29. Which country is popularly known as ‘land of the windmills?
&9 9 B ‘gaT AfFHAT B 4 B AW | A1 AT 87
1). The Netherlands ~[Key]
RG]
2). Poland
rets
3). Norway
A1
4). Finland
fihTeis
Q.30. In order to pursue the research, which of the following is priorly required?
UTHAN FUTT g™ & o, MR § ¥ e el ameEege SEi 87
1). Developing a research design
TS e g fawfia aen
2). Formulating a research question [Key]

TP I Y3 JIR BT

3). Deciding about the data analysis procedure
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Q.32.

1).
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Q.33.

1).

2).
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SeT fweiyor ufhar & ar # o o

Formulating a research hypothesis
UEH W IRGSIAT TIR HRAT

Which term represents a pair of contrasting characters?

B AT U faw 9o & g P g wwar 87

Heterozygous

[EEGRL

Homozygous
SRS

Codominant genes

PrSIAIC i

Allelomorphs  [Key]

g

Which of the following scientists created the first Bioinformatics database?

frfefaa & @ fe e =1 yga 9 I A= ST §91T?

Dayhoff [Key]
SE%

Pearson

forst=

Richard Durbin
Res sfd=

Michael.J.Dunn
AghA o g7

The ability of an organism to survive and reproduce in its environment, is termed as

fordt SN 9 31U araERY ¥ SNfdd & 3R IS &) B &9aT DI Hel Sl &

Evolution

faer

Adaptation
Al

Fitness [Key]
RGEO]




4). All of above

SENESIRkI

Q.34. Narrow sense heritability refers to the ratio between

R 99 sRefferdt | It fows 9= @ ogua ¥ ©
1). Genotypic variance and phenotypic variance

SiHIEIfue fdaReT 3R e faewo
2). Additive variance and phenotypic variance [Keyl

ANTTAS YERYT IR BACIUd faerom
3). Treatment variance and error variance

SYAR fAwar iR Ffe A=ar
4). Standard deviation and mean

9 faae 3k AqeuH

Q.35. White coat color in guinea pigs is recessive (b) to black (B). Ovary from black homozygous guinea pig is transplanted into a white ovariectomized female. If this
white female is mated with a white male, the offspring will be,

frt for & whe et o1 T o7aret (b) & e (B) 2T 81 sofeh Mg f U @ sf2rwy i v ahe e ardl
HTeT T TeamIud ToRaT AT 2| J7 I8 4d &7 4d 79 o 91 {0 v, ar warT s,

1).  |Black with the genotype BB.

SHTETET BB <F |1 ST

2). | White with the genotype bb.

siHrer=T bb F 91T "he)

3).  |Black or white with genotype Bb OR bb.

sirersT Bb a1 bb & 13T Fer I e

4).  |Black with the genotype Bb. [Key]

sTersT Bb < @mer e

Q.36. Genes of different species but possessing a clear sequence and functional relationship to each other are
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Q.38.
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Q.39.

fafr=1 gonfodl & o9 if T TR | W AgHA AR SRIHD ey & drl

Ortholog [Key]

SIRISIN

Synteny

R

Paralog

AR_TSATT

Microarray

AT
Additive Variance is
ANTTHS TR0 &
Heritable
faert
Non-fixable
R T HA AT
Fixable
s &1 I
Heritable-fixable [Key]
BRI w1 I

The following is not a mapping population.

fr=ferRad AmfRE0T SHEEr =8 &

F2
T 2

Backcross

EEEakl

F1 [Key]
U% 1

RILs
3RS TA
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Q.40.

1).

2).

3).

4).

Which of the following, primers are specific to unique sequence?
(1) ISSR (11) AFLP
(1) STMS (1v) SCAR
Select the correct answer from above options

Frfarfan 3§ & #7 2, wom wihid e & fom fafime €7
(1) FrTEER (1) TR
(11i) weéemeg (iv) weieem

I Fe # # W I = iy

[, 1, v

I III, TV

I, v [Key]

I, TV

I, 1, v

I, ITL, IV

[, 1,10

I 11, 111

Manifold effects of a gene refer to

% o & 9§ Y9Gl BT Scoid ©

Penetrance

EEK]

Expressivity

SINCIES]

Epistasis

MERSIRSES]

Pleiotropy [Keyl

feerargiTdy







